
Subject: Re: Another "Array subscript for VECTOR must have same size as source
expression." problem
Posted by laura.hike on Tue, 29 Apr 2014 19:46:32 GMT
View Forum Message <> Reply to Message

Thanks!  I actually did try changing the order of the dimensions in the definition of plotstats once,
but I guess I didn't change the assignment statements in the loop.  I know that IDL will change the
type or size of an array if you assign the wrong things to it, but this is ridiculous behavior on the
part of a function/subroutine.  It would make a lot more sense for the routine to crash when the
wrong inputs are used.
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